
A

A

B

B

C

C

D

D

E

E

4 4

3 3

2 2

1 1

265VDC

6
.3

V
b

6
.3

V
a

6
.3

V
a

6
.3

V
b

6
.3

V
a

6
.3

V
b

6
.3

V
b

BA

Right NFB Left NFB

8.4V8.4V

161V161V

1.1V 1.1V

281V

284V 284V

281V

R11

220K

R9

1.3K

C1

1.0uF

V1
12AX7

k
8

a
"

1
h
"

4

h
5

g
7

k''
3

g"
2

a
6

h
c
t

9
C6

2200pF

+

C4
220uF

J2

Right Output Transformer Connection

1
2

R8

100

R5

1K

R17
240, 1W

R3 1K

V2
6BQ5

h
1

4

h
2

5

g
2

p
7

k
3

g3
9

R1

475K

R18
240, 1W

C2

1.0uF

C5
2200pF

+C10
100uF

R4 1K

C8

0.1uF, 400V

C7

0.1uF, 400V

J3

Left Output Transformer Connection

1
2

R12
220K

R2

475K

V3
6BQ5

h
1

4

h
2

5

g
2

p
7

k
3

g3
9

R13 1K

J1

From 100K Volume Pot Wipers

1 2 3 4

R16

100K

R15

100K

+ C9
100uF

R6
1K

R14 1K

R10

1.3K

+ C3

220uF

R7

100



A

A

B

B

C

C

D

D

E

E

4 4

3 3

2 2

1 1

265V

6.3Va

6.3Vb

Right NFBLeft NFB

Solder 6.3V center tap to eyelet 
'A' which is V3's bias voltage.

R26
20

D2 1N4007

J7

6.3VAC Heaters

1
2

R20 100, 3W

R27

20

D1 1N4007

+ C13
120uF,450V

+ C14
120uF,450V

J4HV Secondary

1
2
3

GND (solder center tap here)

1

J8

From Speaker Outputs

1234

R19
300K

R24
20

+ C12
120uF,450V

+ C11
120uF,450V

J6 288V B+ for Outputs

12

R21 10K,1W

R25

20

J5 1H Triad C-24X

12

J9

To Headphone Jack

1
2
3
4



A

A

B

B

C

C

D

D

E

E

4 4

3 3

2 2

1 1

to GND on PCB

to 'A' on PCB

Edcor XPWR136-120

white/blue

red

blue
yellow

white

Edcor GXSE10-8-5K (Right)

120VAC, 60Hzblack

black

red

black/red

red

SW1: Connect pin 1 to the fuse, pin 2 to one side of the primary 

and pin 3 to the other side of the primary, as the neon bulb 

is parallel to the primary winding.

green

white

black

white/blue

red

blue

Edcor GXSE10-8-5K (Left)

brown

brown

J1-1 Right Input +
J1-2,3 Right Input -, Left Input -
J1-4 Left Input +

J2-1 Right Output Transformer Plate (blue)
J2-2 Right Output Transformer Plate (blue/white)

J3-1 Left Output Transformer Plate (blue)
J3-2 Left Output Transformer Plate (blue/white)

J4-1 Red Secondary
J4-2 No Connect
J4-3 Red Secondary
Important: Solder secondary center tap
                   to GND eyelet by C11.

J5-1 To Choke
J5-2 From Choke

J6-1 Right Output Transformer B+ (red)
J6-2 Left Output Transformer B+ (red)

J7-1 Filament Tap (brown)
J7-2 Filament Tap (brown)
Important: Solder center tap (brown/white) 
                   to 'A' near R18.

J8-1 to R+
J8-2,3 to R- & L-
J8-4 to L+

J9-1 to Headphone Ring
J9-2,3 to Headphone Sleeve (corner)
J9-4 to Headphone Tip

Note: 
On CDROM cable headers, pin 1 is always red.

Triad C24X, 1H Choke

to GND on Chassis Plate

R+

R-

L+
yellow

L-
white

brown/white

J4 1
2
3

J7 1
2

J6 1
2

Headphone Jack - Neutrik NYS234-3

1

2
3

SW1

2 1

GND

GND

J5 1
2

J3 1
2

8 OHM

8 OHM

F1  0.75A slo blo

Right Channel

J1

1
2
3
4

J9

1
2
3
4

Alps 100K RK27 (or similar)

Left Channel

J2 1
2

J8

1
2
3
4



budgieSEpartsmaster
9/18/12
Mouser PCB parts $37.27
Mouser chassis parts $103.28
Alt suppliers parts $145.74
Budgie SE boards $93.25
Total $379.54 (plus shipping costs)

************************************************************************************

D1,D2 UF4007 Diode 625-UF4007-E3 0.19

C1,C2 1uF, 250V 667-ECQ-E1105KF 1.64
C3,C4 220uF, 25V 647-UVZ1E221MPD 0.22
C5,C6 2200pF, 100V 505-FKP22200/100/5 0.36
C7,C8 .1uF, 400V 75-715P400V0.1 2.46
C9,C10 470uF, 25V 647-UVZ1E471MPD 0.38
C11,C12,C13 120uF, 450V 5985-380-450V121 3.57

(sub with 100uF or better, 25mm by 30mm max)
C14 22uF,450V 647-UVZ2W220MHD  1.47

R1,R2,R11,R12 475K, 1/2W 71-CMF60475K00FHEK 0.12
R3,R4,R5,R6,R13,R14 1K, 1/2W 71-CMF601K0000FHEK 0.34
R7,R8 100 ohm, 1/2W 71-CMF60100R00FHEK 0.34
R9,R10 1.21K, 1/2W 71-CMF601K2100FHEK 0.24
R15,R16 100K, 1W 281-100K-RC 0.13
R17,R18 240 ohms, 2W 282-240-RC 0.19
R19 330K, 2W 282-330K-RC 0.19
R20 100, 3W 72-RWM410-100-5 0.63
R21 10K, 1W 281-10K-RC 0.13
R24,R25,R26,R27 20 ohm, 2W 594-5083NW20R00J 0.10

J1,J8,J9 Molex 4-pin header 538-70543-0038 1.11
J2,J3,J5,J6,J7 Terminal Blocks 5.08MM 2P 571-2828372 0.41
J4 Terminal Blocks 5.08MM 3P 571-2828373 1.11

************************************************************************************

L1 1H, 240mA choke 553-C24X 8.77
VR1 Alps 100k RK27 688-RK27112A00AK 11.71
Qty 2 Dual binding post 164-19B2-EX 3.95
Qty 1 Neutrik Stereo 1/4" 568-NYS234-3 0.72
Qty 1 ON/OFF Neon Switch 112-R13-66B-G 1.38
Qty 1 Fuseholder 5x20mm 441-0201-GR 2.77
Qty 4 Rubber Feet 517-SJ-6125BK 0.33
Qty 9 PCB HEX .250X.375 ALUM 534-2209 0.40
Qty 1 SVT AC cable, 18GA .250" thick 562-211011-01 3.38
Qty 1 Cable clamp for AC cable 561-C0250 0.13
Qty 5 Adhesive clips for CDROM cable 561-AWC00125    0.15
Qty 1 6x10x2 Chassis w/ Walnut 546-1441-16BK3CWW 60.11

6x10x2 Chassis w/o Walnut 546-1441-16BK3 15.88
Qty 4                   Red Fast On 22-18 .187" 571-2-520182-2 0.20
Qty 1                   Blue Fast On 16-14 .187" 571-33508162 0.19
Qty 1 Ring Terminal 16-14 571-34120 0.19

************************************************************************************

Edcor:
Qty 2 Edcor GXSE10-8-5K (5K to 8ohm) 26.10
Qty 1 Edcor XPWR136-120 (500VCT with 6.3VCT, 2A) 32.46

Europe: Edcor XPWR136-120/240 37.08

Triode Electronics:
Qty 2 EL84/6BQ5 - Triode Electronics pn#el84jjmp 22.99
Qty 1 12AX7 - Triode Electronics pn#12ax7tesla 10.95
Qty 3 9-pin PCB socket - Triode Electronics pn#9pinpccer 7.05

(.750" "D" hole type)

eBay:
Qty 2 RCA jacks (discard plastic washers) 5.72

http://tinyurl.com/99vnttn

Page 1



budgieSEpartsmaster
Qty 1 Volume Knob (30mm by 22mm for 1/4" shaft) 4.45

http://tinyurl.com/97jj9dd
Qty 2 CDROM cable 7.58

http://tinyurl.com/9uv6ael

Your local hardware store or Bolt Depot:
Qty 17 #6-32 1/4" machine screw SS 18-8 0.85

- PCB top and bottom
http://www.boltdepot.com/Product-Details.aspx?product=5316

Qty 12 #6-32 5/16" machine screw SS 18-8 0.60
- choke, two outputs and half the PT
http://www.boltdepot.com/Product-Details.aspx?product=9639

Qty 2 #6-32 3/8" machine screw SS 18-8 0.10
- GND and cable clamp at PT
http://www.boltdepot.com/Product-Details.aspx?product=1335

Qty 13 #6-32 K-Lock nuts SS 18-8 1.17
http://www.boltdepot.com/Product-Details.aspx?product=12019

Qty 8 #6 x 1/2" sheet metal screw SS 18-8 0.40
- Attaches top plate to chassis
http://www.boltdepot.com/Product-Details.aspx?product=2300

Page 2


